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Re-Imagination of learning

Read each question, and tick mark the correct option.

1. Jane has IX strawberries. Jacky has XXX more than Jane. How many strawberries
does Jacky have?

a. XXXIX
b. IXXXX

c. XXID

2. Emily and Ryan are collecting soda cans today. At the end of the day, Emily
collected 13 cans and Stewart collected 15 cans? If you add their totals together,
what would their answer be in Roman Numerals?

a. XVIII
b. XXVIII

c. CCVII

3. Sam has DCCI coins while Jerry has CD. How many more should Jerry get to equal
Sam’s collection?

a. CCCl
b. CCDI

c. CCC

4. Rory got XCIX marks, Polly got LIX marks and Suzy got LXXIX marks. Who has
maximum score?

a. Rory
b. Polly

c. All have equal score

5. XXX + CCC is?
a. XXXCCC
b. XCXCXC

c. CCCXXX
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